S1LvERSTONE"

Designing Inspiration

S DP1O0

5.25” to 3.5” and 2.5” bay converter

Special Features

Support one 3.5” HDD and two 2.5” HDD/SSD
Compatible with most computer cases

www.silverstonetek.com




S1LvERSTONE"

Designing Inspiration

Introduction

The SDP10 is a new generation of 5.25” to 3.5” drive bay bracket that is
capable of accommodating two additional 2.5” hard drives or SSDs
(9.5mm thickness) in addition to a 3.5” drive. If you are building a system
in which additional hard drive space is required and there are free 5.25”
drive bays, the SDP10 is a great choice.

Specification

Model SST-SDP10B Capacity 3.5”x 1;2.5” x 2 (9.5mm version only)
Color Black Dimension 148mm (W) x 41.3mm (H) x 152.8mm (D)
Material Steel Weight 280g

Application 5.25" drive bay

Hard drive installation

ENGLISH
Install the 3.5” hard drive and secure with included #6-32 screws

DEUTSCH
Installieren Sie die 3,5 Zoll-Festplatte, anschlieRend mit den beigelegten
#6-32-Schrauben fixieren.

FRANCAIS

Installez le disque dur 3.5” et fixez-le avec les vis #6-32 fournies
ESPANOL

Instale el disco duro de 3,5 y fijelo con los tornillos #6-32 incluidos.
ITALIANO

Utilizzare quindi le viti #6-32 per il montaggio delle hard disk da 3,5”

PYCCKMIA
YcTtaHoBuTe 3.5-[10/MOBbIV XECTKWIA ANUCK W 3aKpenuTe npunaraembiMu
BonTtamn #6-32

smEEhsy For HDD screws
<H=
RH3.5” MR, LANMIEIH#6-321R A SHE .

X
BRIERTT, BUTR, WHRAME.

H %3
3.5 N—FT4RY K54 TEMYHIF, HERO06-32STAELET,

# =2 of

3.5" ot= ECt0IEE £XIGt) MBE #6-32 LIALS AFS0tH D& EfLICH

www.silverstonetek.co




S1LvERSTONE"

Designing Inspiration

ENGLISH
Install the 2.5” hard drive and secure with included M3 screws &

DEUTSCH

Installieren Sie die 2,5 Zoll-Festplatte, anschlie®end mit den beigelegten
M3-Schrauben fixieren.

FRANCAIS

Installez le disque dur 2.5” et fixez-le avec les vis M3 fournies
ESPANOL

Instale el disco duro de 2,5 y fijelo con los tornillos M3 incluidos.
ITALIANO

Utilizzare quindi le viti M3 per il montaggio delle hard disk da 2,5”

PYCCKMA
YcraHoBUTe 2.5-A0MOBBIV XECTKWIA AUCK W 3aKkpenuTe npunaraemsiMu Gontammu M3

P
R, 57 HERY, S LLPIMETLFANGIR AL

[N b s

22,57 TR PR SIR LA

B X &

25 N—ET4RY K54 TERY I, HROBHFSTEELES,

g = of

2.5" ot= E2t0IEE £XIot:) M3E M3 LIALS AFZ0H0d D& BILICH

Install the SDP10 into the chassis

A. Internal 3.5” device installation with common 5.25” drive bay cover

ENGLISH

Adjust SDP10’s position to ensure that it does not interfere with the drive
bay cover and secure it with screws. If the case does not have any

more mounting holes for adjustment, the SDP10 has additional set of |
holes to allow for moving it further into the case.

Case front Panel

DEUTSCH —
Passen Sie die Position des SDP10 so an, dass es nicht e
mit der Schachtabdeckung kollidiert; anschlieRend mit Schrauben
fixieren. Falls die Montagebohrungen nicht zur Anpassung ausreichen
sollten, verfiigt das SDP10 Uiber zusétzliche Bohrungen, damit es nahezu
frei platziert werden kann.

www.silversto




S1LvERSTONE"

Designing Inspiration

FRANCAIS

Ajustez la position du SDP10 pour assurer qu'il n'interfére pas avec le cache de la baie et fixez-le avec des vis. Sile
boitier n'a pas d'autres trous de montage pour procéder a I'ajustement, le SDP10 posséde un ensemble de trous pour
permettre des réglages plus précis dans le boitier.

ESPANOL

Ajuste la posicion del SDP10 para asegurar que no interfiere con la cubierta de labahia de dispositivos y fijela con
tornillos. Si la carcasa no tiene mas agujeros de montaje para el ajuste, el SDP10 tiene un juego adicional de agujeros
para poder moverlo hacia el interior de la carcasa.

ITALIANO

3.Aggiustare la posizione di SDP10 assicurandosi che non interferisca con il bay cover ed assicurarlo alla struttura con
le viti. Se i fori presenti nel case non sono sufficienti per una regolazione fine della posizione, SDP10 possiede un suo
set di fori che gli permettono di essere posizionato nel modo migliore.

PYCCKMA

MoaronuTe yctpoiictBo SDP10 Tak, 4To6bl OHO HE MeLLaro KpbILLKe OTCeka ANs XXeCTKUX AUCKOB W 3akpenuTe Gontamu.
Ecnu B kopryce He NpeaycMOTpeHbl AONONHUTENbHbLIE OTBEPCTUS ANSA KpenneHus,, To ycTpoiictBo SDP10 cHabxeHo
AONOMHUTENBHBIM HAGOPOM KPENEXHbIX OTBEPCTUN, NO3BOMSIOLIMX 3aKPENUTH ero ryGxe BHYTPU kopryca.

ZREPx
FEEESDP1OMI AT (LR, FEE A BB AR T34 1%, #§SDP10EIE, MRS HE SIREFTHEIRAFLAL SDP107EAZRE
HOSHEIFLAT S BIMREE—MREHEITL, HiRIRA

A3
VBEESOP1ORYRI/RALE, TR L SHAKIR T/, S0P10BLE, NRHFRESRETREEMTLEL SOP107EHRE
HOSEITLAT BIMRE—EEL, (ERA

B & &

SDPIODIEE K51 TRA A FHELEWESHBELTHLRUTEAELET, 7—ADBEAARY HMEE.
SDPI0IZ(F 7 —RANITRE D & 5. FAHANEBMESATNET,

# = o

SetolE HIol HBi 2t ZelXl 2= SDP102] |IXIE £2FE s LAtz DFEELICH AHolAl =5
ZE PO O 014 S Z2, SDP102] It 2 HMEES AIE510] 012 2 0lA ete2 [ dUES =
UASLICH
ENGLISH

Install SDP10 into the case and reinstall the case’s own 5.25” drive bay cover

DEUTSCH
Installieren Sie das SDP10 im Gehause, setzen Sie die Gehause-eigene 5,25
Zoll-Schachtabdeckung wieder auf.

FRANCAIS
Installez le SDP10 dans le boitier et réinstallez le cache de la baie 5.25”

ESPANOL

Instale el SDP10 en la carcasa y reinstale la cubierta de la bahia para dispositivos
de 5,25”

www.silverstonetek.co




S1LvERSTONE"

Designing Inspiration

ITALIANO

Installare SDP10 nel case e riposizionare il bay cover da 5,25 del case.

PYCCKII

YcraHosute ycTtpoiicTBo SDP10 B 0TCek 3akpoiTe ero KpbiLLkoit ans 5.25-atoiimosoro OTtceka
4L

HESRARMARADS. 257 HEIR R ESOP10.

[ b e

FFIRARANFERY5. 257 R4IRZ %5 ZESDP10,

=R

SDP10Z 7 —RIZE YA IFTH S, 7—RBEDS.25" F54 TXL hNA—%2TITRLET .
# 2o

SDP10S H0IA0 £XIGtD HOIA KHAIS| 5.25" =2t0l2 HI0l HBI S CHAl £XIELICH

Install the SDP10 into the chassis

B. Internal 3.5” device installation with SilverStone aluminum drive bay cover

ENGLISH
Install the SilverStone 5.25" aluminum drive bay cover onto the SDP10

DEUTSCH

Bringen Sie die 5,25 Zoll-Aluminium-Schachtabdeckung von SilverStone am
SDP10 an.

FRANCAIS
Installez le cache de la baie 5.25” de SilverStone en aluminium sur le SDP10

ESPAROL

Instale la cubierta para bahia de dispositivos de 5,25” de aluminio de Silverstone
en el SDP10

ITALIANO
Installare il bay cover SilverStone da 5,25 in alluminio su SDP10

PYCCKMIA
YcTaHosuTe anioMuHnesyto 5.25-a10iMoBYO KpbILLKy komnanun SilverStone Ha ycTpoiicteo SDP10

ZEPX
HESDP10Z e E#AR, #HERRADS. 25" RSk R AR R %A .

L1304
FESOP10Z 45 FHLES, WHLFSHYS. 25" SR RER R 5.

www.silverstonetek.c




S1LvERSTONE"

Designing Inspiration

B =* &
SilverStone 5.25” 7L I = LB RS54 TARA H/N—%SDPI0ICERY H1FFET .

B F o

SilverStone 5.25" 220l& S2t0lE #I0l 1S SDP100Il & XI & LICH

ENGLISH

Install the completed SDP10 into the case and secure it with screws or tool-less
mechanism.

DEUTSCH

Installieren Sie das vollstandige SDP10 im Gehause, fixieren Sie es anschlieRend
mit Schrauben oder dem Gehé&use-eigenen Mechanismus.

FRANCAIS

Installez le SDP10 au complet dans le boitier et fixez-le avec des vis ou avec
l'aide d'un mécanisme sans-outils.

ESPANOL

Instale el SDP10 completado en la carcasa y fijelo con tornillos 0 mecanismos sin
Herramientas

ITALIANO

Installare il SDP10 completo nel case ed assicurarlo alla struttura con le viti o per
mezzo del meccanismo tool less

PYCCKMIA

YcraHosuTe cobpaHHoe ycTponcteo SDP10 v 3akpenute nNpu nomoLy GONToB Unu MexaHuama, He TpebyioLero
VHCTPYMEHTOB.

ZREPx
TRAHGSOPIOEEIA AR T AR, 3 AR AEEK Too e EIE AR,

P
JRAESOP1ORE FIAALH 225 EHLFE, SHIMUBL KT ool ess BB

=N
18 LSS 1=S0PI0Z 7 —RITRS, F SFEFTAFERHCERLET.

B 3 o

22 E SDP10Z AOIA0 £XIGHD LIALE AFE5

=)
0
4
0
S]
I
o
Qo
c
o

www.silverstonetek.c



S1LvERSTONE"

Designing Inspiration

Warranty Information

This product has a limited 1 year warranty in North America, and Australia.
For information on warranty periods in other regions, please contact your reseller or SilverStone authorized distributor.

Warranty terms & cond ns

1. Product component defects or damages resulted from defective production is covered under warranty.
Defects or damages with the following conditions will be fixed or replaced under SilverStone Technology’s jurisdiction

a) Usage in accordance with instructions provided in this manual, with no misuse, overuse, or other inappropriate actions.

b) Damage not caused by natural disaster (thunder, fire, earthquake, flood, salt, wind, insect, animats, etc...)

¢) Product is not disassembled, modified, or fixed. Components not disassembled or replaced.

d) Warranty markistickers are not removed or broken.
Loss or damages resulted from conditions other than ones listed above are ot covered under warranty.

2. Under warranty, SilverStone Technology's maximum liability is limited to the current market value for the product (depreciated value, excluding
shipping, handiing, and other fees). SilverStone Technology is not responsible for other damages or loss associated with the use of product.

3. Under warranty, SilverStone Technology is obligated to repair or replace its defective products. Under no circumstances will SilverStone

Technology be liable for damages in connection with the sale, purchase, or use including but not limited to loss of data, loss of business, loss of
profits, loss of use of the product or incidental or consequential damage whether or not foreseeable and whether or not based on breach of warranty,
contract or even if has been advised of the possibility of such damages.

Wananly covers only the original purchaser through authorized SilverStone distributors and resellers and is not transferable to a second hand
purchaser.

N I

‘You must provide sales receipt or invoice with clear indication of purchase date to determine warramy e|lglb\|lty

If a problem develops during the warranty period, please contact your authorized or
http:/www.silverstonetek.com.

Please note that: (i) You must provide proof of ungmal purchase of the product by a dated vtemvzed receipt (ii) You shall bear the cost of shipping
(or otherwise he product to uthorized authori will bear the cost of shipping

(or otherwise transporting) he product back to you tr compleung me warranty service; (m) Berore you send the product, you must be issued a
Return Merchandise Authorization (“RMA") number from Updated warranty will be posted on official website.
Please visit http:/www.silverstonetek.com for the latest updates.

olal

Additional info & contacts

For North America (usasupport@silverstonetek.com)

SilverStone Technology in North America may repair or replace defective product with refurbished product that is not new but has been functionally tested.
Replacement product will be warranted for remainder of the warranty period or thirty days, whichever is longer. All products should be sent

back to the place of purchase if it is within 30 days of purchase, after 30 days, customers need to initiate RMA procedure with SilverStone Technology
in USA by frst downioading the "USA RMA form for end-users" form from the below fink and follow is insiructions.

http:

For Australia only (support@silverstonetek.com)
Our goods come with guarantees that cannot be excluded under the Australian Consumer Law.

You are entitled to a replacement or refund for a major failure and for for any other loss or damage.

You are also entitled to have the goods repaired or replaced if the goods fail to be of acceptable quality and the failure does not amount to a major failure.
Please refer to above “Warranty terms & conditions” for further warranty details.

SilverStone Technology Co., Ltd. 12F No. 168 Jiankang Rd., Zhonghe Dist., New Taipei City 235 Taiwan R.O.C. + 886-2-8228-1238
(standard international call charges apply)

For Europe (support.eu@silverstonetek.de)
For all other regions (support@silverstonetek.com)

www.silverstonetek.com



SilverStone Technology Co., Ltd.

www.silverstonetek.com

support@silverstonetek.com
Issue date: January, 2013

NO: G11218430



	0-Manual-SDP10(A158)-V1
	1-Manual-SDP10(A158)-V1
	2-Manual-SDP10(A158)-V1
	3-Manual-SDP10(A158)-V1
	4-Manual-SDP10(A158)-V1
	5-Manual-SDP10(A158)-V1
	6-Manual-SDP10(A158)-V1
	7-Manual-SDP10(A158)-V1

